Math 20-2 Name _ EY
Worksheet on 5.1(Exploring Data) & 5.2 (Histograms & Polgyons)

1. }oel researched the average daily temperature in Lloydminster SK.

Month | Jan. | Feb. | Mar.| Apr. | May | Jun. | Jul. | Aug. | Sep. | Oct. | Nov. | Dec.
average
daily temp|-10.0(-17.5( -5.0 | 3.7 | 10.7 | 143 | 20.1 | 140 | 9.8 | 48 | -5.8 |-14.8
{°C) MAy (e
Determine the median, mean, and range of the average daily temperatures in Lloydminster.
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2. Environnfent%;;ila compiled data on the number of lightning strikes per square kilometre in
Saskatchewan and Manitoba towns from 1999 to 2008.
203 131 625 103 126 017 043 080 0.72
099 101 024 -094 092 -0:09 -046 058 049
0.86 o7t 0605 0.8% 063 6:01 -040 0:00- -0:52-
a) Using an interval width of 0.25 and starting at 0.00, complete the frequency table.

Lightning Strikes/km? Tally Frequency
0.00-0.24 HH | 2
0.25 - 0.49 1 s
do SV -0.7% T S
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[, 35— 1,99 I /
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.oV -2.27 l l
82.25-2.4F
b) Graph a histogram with the data above. L:(—, HIIVING) S TRIAES
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3. Environment Canada compiled data on the number of lightning strikes per square kilometre in
Saskatchewan and Manitoba towns from 1999 to 2008.
203 131 025 103 120 0.17 043 080 072
099 101 024 094 092 0.09 046 0.58 0.49
086 071 005 081 063 001 040 0.00 0.52

a) Complete the frequency table using an interval width of 0.50 and start at 0.00

Lightning Strikes/km? Tally Frequency
0.00-0.49 - HH {1
0.50 - 0.99 +Ht HH | 1/
1.00 - 1.49 m, =4
1.50-1.99 d
2.00-2.49 | /

b) Which range of data has no entries? ) sy~ /, ¢ g

4. Environment Canada compiled data on the number of lightning strikes per square kilometre in
Ontaric towns from 1999 to 2008.
3.60 211 96 065 238 1:90 0.72 0.63
3.47 -2:.04 090 065 -225 133 .70 0.38
253 190 085 _0.65 225 513 0.66 0.19

Create a frequency table that starts at 0.00 and has a width of 1.00.

Lightning Strikes
(per km?)
Tally Frequency

0.00 -p.9¢| THEHE 12

l-00-f 5% | 1l o
2.00-2.99 | H+ | b
3.00-3.77| ] R

5. A company measured the lifespan of a random sample of 40 batteries in their MP3 players.
Times are in hours.

78 110 105 88 91 94 112 94 86 9.0 0.5 =727
93 85 79 91 71 93 94 97 106 85 7.5 - 8.4
92 82 74 88 86 80 80 111 92 114 35/.. .

82 96 85 105 107 95 "I14 82 97 85 i
4.5 - 10-#

If the interval width is 1.0 and starts at 6.5, what is the last interval? 0. 5l ./ LAsT
i-s —12-4




6. The Edmonton Qilers Fans

The 1Q of 78 Oiler fans chosen at random are shown below. Group the data into 10
classes/intervals and draw a histogram of the grouped data. Also draw a frequency
distribution polygon.

—130 EVE] 451 172 162 116
160 173 (107 ) 181 186 —132-
121 162 H78 152 145 A7
174 4214 115 122 109 127
150 164 167 117 142 130"
435 453 151 13T 138~ 168
152 188 167 344 132~ _111-
141 142 43% 125- 154 122
177 128 -H43 113 141 145~
137 157 4585 128 139~ 129
195 - (198 ) 138 440 155 157~
159 149 171 156 167 187
140 169 148 145 147~ 131

Range Tally Frequency | Midpoint
o - jog M 3
(10 = 11§ T s

20 -/24 |t 9
130 =139 W’*ﬁ'}r /A
140 - 1§ T i /S

IS0 ~159 |l | 13
1o - 19 [ g
170 - 179 ! -7
180 -/99 [\ vd
190 - 175 |\ o
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a) Histogram
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b) Frequency Polygon

&

A 4



¢. Box and Whisker Plot

Enter the data in L1 of your calculator.

Record the following values:

Mean ).?:M: 146.7 T=21,7
Minimum: /2&

Qi 13

Median: 145

Qs 163

Maximum: /4¢

We can use this data to create a box and whisker plot:

Scale the number line using the intervals from your histogram.

On the number line, place a point at the minimum, the maximum and each of the
quartile points (median is also Qz).

Draw a rectangle that begins at Q1 and ends at Qs. The rectangle should go above and
below the number line with symmetry.

At the median point, add another line to separate the rectangle; the median line does
not need to cut the rectangle in half,

From the minimum point to the maximum point, draw a thick line.
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